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SCHOLASTIC APTITUDE TEST
S8 UH-U3 H FA 100 w7 § | ST e e 37 D |
THERE ARE 100 QUESTIONS IN THIS PAPER.
EACH QUESTION CARRIES ONE MARK.

(vt farsmmr)
(Physics)
Ao wivwt = wg i
(1) Fremm, am, am (2) e, v, gemH
(3) =&, @@=, smEm (4) am, w=Rw, 7A@

Group of vector quantities are :
(1) displacement, velocity, time

(2) area, density, mass
(3) speed, length, impulse

()" velocity, acceleration, force
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The velocity-time graph of an object moving with uniform velocity is
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SAT-2

3.

(4)

. AC) o ,
’Jﬁaa,;ianwﬁmmm:A,Baﬂcim“’ﬁ“mm%ﬁw(?J =

(1) =em (2)

(4) fremmm
If force, momentum and displacement are represented by A, B and C respectively

AC .
then the term (FJ will represent :

(3) =m

(1) momentum (2) acceleration

(3) velocity (4) displacement

T g ot =t @ e 60 kg & it w5 it wg w =i w1 g

(1) 60kg (2) 360kg

@) 10kg

The mass of a person on earth surface is 60 kg then his mass on moon will be
(1) 60kg

(3) 20kg

2) 360kg

(3) 20kg 4) 10kg

am%ma@mmmmmmmam
(1) 3men

(2) v e
(3) < (4) g
On halved the distance between two masses, the gravitational force between them
will be
(1) half

(2) one-fourth

(3) four timeg (4) double

NTSE(1)/20-21 -SAT-702-B
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(5) SAT-2
v T F T 250 m/s A0 T2 50 cm 2, @ Am £ At o
(1) 5Hz (2) 500Hz (3) SOHz (4) 12500 Hz

If the speed of wave is 250 m/s and its wavelength is 50 cm then the frequency will
be

(1) 5Hz (2) 500Hz (3) 50 Hz (4) 12500 Hz
IOgmgammmﬁuglom/szmmizrﬁaﬁm%,hQWrﬂﬁmmm
(1) IN (2) 0.IN (3) 1000N (4) 100N

An object of mass 10 gm is moving with an acceleration of 10 m/+". Force acting
on the object will be

(1) IN (2) 0.IN (3) 1000XN (4) 100N
ARt -

1. 1_1 1,1 1
D 7T Y 7
o L11 111
3) v u f (4) y zu f
Lens formulais

1 1 1 1 1 1

—_—t = —_———
& v ou f 2) v 2u f
Yovou f 4 3T f

UF 78 F1 EFA 70 50 cm 2, 78 F1 469 2R A 4 2
(1) 0.02 2) 2 (3, 0.2 (4) 50

Focal length of a lens is 50 cm. In dioptre power of lens will he

(1) 0.02 (2) 2 (3) 02



SAT-2
10. mm@mmm\am@@ﬁa@@?
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MW IR

Refraction Tom denser to rarer madium for a light ray, the value ot fangie

at the condition of critical angle is
. < ~ 1 OND - =3 o
() 0 Q) 180 RAEEN @ X

12, 20V [0W oifes sou = TR ¥

»

4
o
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()
-

4=
.

(1) 242Q (2 4340Q S
The resistance of a bulb marked 220\, TOWT 1
(ﬂ 242Q \:\ 4840 Q & 121 Q \-5\‘ 700

qmi%keaa@rlu}é&@ﬁfrﬁaiﬂnﬁmm | SO TRY STEiT W ot v i
ENED) (g=10m s-)
(1) 3008k Q

fa—
(VY
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_: ‘J Q \‘\\ }\\\ 1\\ ~ \"\ ‘\\" sf\

A person of mass 100 kg reaches a height of § moren 10 sanody, Pt AW
- - 3 .- o} -

power used by the person (g = 10m &°)

tl\) 300 wan Q) 230wan ) SO wat B I0wa




15.
!
|
i
16.

17.

14.

(7

(wEm )
(Chemistry)
g 1 EE HE -
(1) 3@>ga>iw (2) dm>Ha>ga
(3) fW>ga>3m (4) >3 >z
Correct order of compressibility is -
(1) Solid > Liquid > Gas (2) Solid > Gas > Liquid
| (3) Gas > Liquid > Solid (4) Gas > Solid > Liquid
et % 0.25 Hrelt § Sufua atuped t wrem g -
(1) 3.011 x10% (2) 30.11 x 10%
(3) 1.5055x10% (4) 15.055x10%
Number of molecules present in 0.25 moles of water are -
(1) 3.011 x10% (2) 30.11 x 10%
(3) 1.5055 x 10% (4) 15.055 x 10%

9 T A % WEGET U <t TeA et uqed @ -

(1) 12 wm arfifdem (2) 12 am wEA

(3) 17w swfAa (4) 11 7™ eSS AR
Substance having equivalent number of molecules as in 9g of water is -
(1) 12 gofMagnesium (2) 12 g of Carbon

(3) 17 gof Ammonia (4) 11 g of Carbondioxide
Unt St ST deat i T10] SFHTS 8 —

(1) 101 (2) 102 (3) 103 (4) 104
Atomic number of element having symbol Unt is -

(1) 101 (2) 102 (3) 103 104

NTSE(1)/20-21-SAT-702-13
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SAT-2 (3)

18.

19.

21.

22.

23.

TN St e e 99 pm 31 sy # s 3wl ¥ ARl & we gt @it -
(1) 1.98 pm (2) 49.5pm (3) 99 pm (4) 198 pm
Atomic radius of chlorine is 99 pm. Distance between nuclei ot its two atoms in
molecule will be-

(1) 1.98 pm (2) 49.5pm (3) 99 pm () 198 pm

TH a1g 'M' & FARES 1 AEA MCL, 31 'M' & A3 1 AR 8 -

(1) MO (2) M0 (3) MO, ) MO,
Molecular formula of chloride of a metal 'M' is MCI,. Molecular tormula of oxide
of M will be - )

(1) MO (2) M0 (3) MO, (4) M,O,

e Ao | g ARl ht gure A & Juge faftr @ -

(1) T (2) Treefimor (3) 3ItEuTR (4) smEaa
Suitable method for separation of pure naphthalene from sandy naphthalene is -
(1) Filtration (2) Crystallisation (3) Sublimation  (4) Distillation

TESH A wigat [H] = 1 x 10~ iiet /i aret e 6 pH gt -

() 3 2) 4 3) 7 ¢ 10

pH of the solution having hydrogen ion concentration [H'] = 1 x 10" mol/L. will be -
(1) 3 (2) 4 3) 7 4) 10

HYH - R G 8 —

(1) HCO;,CO; (2) NHj,NH, (3) OHY, H,0, (4) NO,,NO,
Conjugate acid-base pair is -

(1) HCO;,COr (2) NHiNH, (3) OH,H0, (4 NO, NO,

ek % WqW forer 8 & g T (NaCl) ) sragifua @t 3 fero e e § -
(1) H, 2) Cl, (3) HCI (4) CO,

Gas used for precipitation of pure common salt (NaCl) from saturated solution of
common salt is -

(1) H, @ cl, (3) HCI (4) CO,

NTSE(1)/20-21-SAT-702-B



)
24, CuSOy+Zn —— ZnSO, + Cu
et TR ¥ Tt o Wt e §
(1) Cu T H Zn w1 arfrframiier |
(2) Cu® ger i | Zn aiftves st § |
(3) Cuwen Zn & srfuforareficrar wam 2 |
@) Cugri Zn Reenfa @ |
CuSO,+Zn —— ZnSO, + Cu
Correct statement related to the above reaction is -
(1) Zn s less reactive as compared to Cu
(2) Zn is more reactive as compared to Cu

(3) Reactivity of Cu and Zn is equal
(4) Zn is displaced by Cu

25, feefierton fasyor s o St et @ -

(1) NaOH (2) NaCl

(3) NaHCO, (4) CaSO,.2H,0O
Useful substance in preparation of freezing mixture is -

(1) NaOH (2) NaCl

(3) NaHCO, (4) CaSO,.2H,0O

26. a6 sRREETyiieaT 1 T wga FH 8 -

(1) Au, Cu, K, H (2) Au,Cu,H,K
(3) Cu,Au, K, H (4) Cu,Au, H, K
Correct increasing order of reactivity of elements is -

() Au, Cu,K,H . (j) Ay, Cu, H, K
(3) Cu,Au, K, H (4) Cu, Ay, H, K

NTSE(1)/20-21-SAT-702-B
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SAT-2 (10)

(Feafa faam)
(Botany)
27. gt g wiven it fra rqw g # uwht < 2 |

(1) dar (2) wa=

(3) dctmEen (4) S
In which of the plant group chitineous cell wall is found.
(1) Algae (2) Fungi

(3) Thallophyta (4) Bryophyta

28. gRacas & fora W ° et stfformar wra= 2kt 21

(1) = (2) =m=h fufw

(3) ¥ (4) 3 EwE T
The light reaction occurs in which part of the chloroplast.

(:}1‘) Stroma (2) Outer wall

(3) Grana (4) None of above

29. Vet se a1 W eyl U R de w8 S R )

(1) sariem (2) g

(3) TR (4) Hieyem

Lack of which element occurs when Algal Bloom is formed in a waterbody.
(1) Oxygen <€2)- Nitrogen

(3) Hydrogen (4) Calcium

NTSE(1)/20-21-SAT-702-B
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(5]

(1 SAT-
WH WU W UENE qaw ' |

(1) s (2) wEA

(3) R (4) Mg
Ihe plant group called "pollution indicator" is.

(1) Bryophyvta (2) Lichen

(3)  Gymnosperm () Pteridophyta

THH HHE TR R e are o R

(31 (2) 9:3:3:1

) 201 @) 1:3
Genotypic ratio of k. generation in monohybrid cross is :

(H 3:1 2) 9:3:3:1

3) 1:2:1 @ 1:3

R AR |

(1) STRTE aergan (2) RRww wemam
(3) uffen zdwEiRa (4) <hanaw

Rabi Crop is :

(1) Oryzasativa (2) Triticum aestivum
(3) Pennisetum typhoides (4) Zeamays

Fraen 3 i s R 2

(1) wAte® (2) weaTEw

(3) AR (4) T

Kevla Devi National Park is situated at -

(1) Karnataka (2) Madhya Pradesh
(3) Rajasthan (&) Gujarat

NTSE(1)/20-21-SAT-702-B LPT.O.



SAT-2 (12)
(stroft form) 37.
(Zoology)
34, | A IR
(1) e 2) feehfam
(3) foem o (4) FBW
Disease caused by Virus, is
(1) Malaria (2) Diptheria 38.
(3) Chicken pox (4) Leprosy

35. | e eyl 59 weR T @

(1) ot weret (2) gen
(3) sfrm (4) oo ”
Which of the following is not a member of phylum Arthropoda
(1) House-fly 174} " Earthworm
(3) Shrimp (4) Cockroach
36. e =5k <At forw wrawen # DNA *1 dyeiswn 2w &
(1) G-I e (2) G-II'virEeen 40.
(3) M-urEwen (4) S-SrerERn

DNA synthesis occurs, in which stage of cell cycle.
(1) G-I phase (2) G-II phase
(}’)/ M-phase (4) S-phase

NTSE(I)/20-21-SAT-702-B NTS



(13) SAT-2
37, R Tl TSR < I
(1) e (2) ufem
(3) T (4) =
Example of Fat digesting enzyme is
(b~ Amylase (2) Pepsin
(3) Lipase (4) Nucleases

3. whitees FRTUT & TRATO] Il o6 8 A argeem ¥ forg fream s dnfes

(1) s g v (2) e dweE

(3) . dae Rt (4) . dh s e

Indian scientist known for research on cosmic rays and nuclear energy

(/1’)/ ' Dr. Prafullachandra Roy (2) Chandra Shekhara Venkat Raman
(3) Dr. Panchanan Maheshwari (4) Dr. Homi Jahangir Bhabha

39. A BIR FraRvY fua B

() = @)
3) I 4) =&
Tal chhapar wild life sanctuary is located at

| () Alwar (2) Jaipur

() Chum #) Kota

N, frafm - C $ ot @ e I R

(1) e (2) iR
(3) ¥-aa () fem
Disease caused by deficiency of vitamin - C is
€] Scurvy (2) Nightblindness
(3) Beri-beri (4) Rickets
NTSE()20.21-5AT-702-B [PTO.



SAT-2 (14)

41.

42.

43.

44,

(vrfvra)
(Mathematics)
qﬁagqg3x3+x2—4x+Paﬁizf”+sz+3x—3aﬁx—2@m&imwmm
e 2 & P w1 T B -

ay + @ 3 6 -3 @ -3

If polynomials 3x* +x* — 4x + P and 2x* + Px2 + 3x — 3 are devided by (x —2) then
get the same remainder. What will be the value of P.

M + ® 3 ® -3 @ -

forcit fors o1 3fw, WA 3 0 L AR aiw H 4 g Ry g ven g A 2 e o S A o, ®WH

1 e 2, o e
W 3 ® 3 0 @ 3

Numerator of a fraction is 3 less than its denominator. If 4 is added to the numerator
and 2 is subtracted from the denominator then the numerator becomes 2 times of
the denominator. What will be the fraction?

5 4 2 5
1 3 @ 3 @ 3 QO
T AR TR eI AR 165° T eai B wen get -
(1) 24 @ 72 (3) 26 4) 12
If each interior angle of a regular polygon is 165° then the number of sides will be -
(1) 24 2 72 (3) 26 4 12

v Pt 3 At Boit 36 Al o ST 3 1 4 1 5 ] A 6 Wel 9 R A g -
(1) 55° 2) 65° (3) 80° 4) 75°

The measures of Three angles of a triangle are in ratio 3 : 4 : 5, then the measure of
its greatest angle is -

(1) s55° (2) 65° (3) 80° 4 75°

NTSE(I)/20-21-SAT-702-B

45. ARTHF
(1) 24
If area
(1) 24

46. THEAS
% aie {2
(1) 11
Each f:
equal f

1) 1

47. R

(1) 4
3) 2

The tir
(1) 4
3) 2
48. =f2 cc

(1)

If cos

(1)

NTSE1)2



45.

46.

47,

48.

(15) SAT-2

of2 7 TR PO A 643w At @ At e afta @ -
(1) 24¥R (2) 48k (3) 64k (4) 328
If area of an equilateral triangle is 6443 c¢m?”. Then its perimeter will be -

(1) 24cm (2) 48 cm (3) 64 cm (4) 32cm

7 T I e 78 144Hﬁﬁ‘ﬁ§,ﬂﬁmﬂxmmgmmaﬁm?ﬂmwﬁ
3 wtie fEan S @ g1 W  wegut gt e g -

() Hs2mid®  (2) 1052widh (3) 288miwd (4) 576 = @
Each face of a cube is 144 cm?. If cube is cut by a plane, parallel to it's base in two
equal parts, then the total surface area of both the parts will be -

(1) 1152 cm? (2) 1052 cm? (3) 288 cm? (4) 576 cm?

ot ot & fore B gd Rt o YR o A o R e i -

(1) 45 fome 30 @z (2) 45 fime

(3) 22 fme 30 d=vz (4) 22fme

The time does the minute hand of a watch take to describe an angle of -’Z—vr radians is -

(1) 45 minutes 30 seconds (2) 45 minutes

(3) 22 minutes 30 seconds (4) 22 minutes

cos A
Tf cosec A =2, d tanA+ T AE B —

]+sin A

1 2 | ,
O 575 @ 7 G) 5 4) 243
If cosec A = 2. then the value of tan A+ CO? A will be

’ l+sinA
1 /2 1
— = — .
0 75 @ 7 3 7 CORPNG
NTSE(1)20-21-8AT-702-B [ P T.O.



SAT-2 (16)
49, nggqa(—,n@ma‘nﬁﬁ 2 wiex 3R 20 iew oval @ §, afe 374k urgl & dra o ISIﬁZ’IEﬁ@

50.

51.

A A Tk ol Rl % ot gl ed -

(1) 15#R (2) 16+=x (3) 17+ (4) 18 #H=A

Two poles of height 12 meters and 20 meters are standing on a plane ground. If
distance between their feet is 15 meters, then the distance between upper ends of
poles will be -

(1) 15 meters (2) 16 meters (3) 17 meters (4) 18 meters

gl B Uk S R 3 Wi # ww forw g a7 36 e ¥ -
17,2,7,27,15,5, 14,19, 10, 24, 9, 8, 6, 18, 28

A grr W fohu e 37t st WitaeR g -

(1 14 ) 16 3) 15 4) 17
Following are the points obtained by a Kabaddi team in various matches.
17,2,7,27,15,5, 14,19, 10, 24,9, 8, 6, 18, 28

the median of the points obtained by the team will be -

(N 14 (2) 16 3) 15 4 17

frelt Qe ¥ AW % AR g W HASH H1 T TR g W 8 ava @t 24 e e Hafh
et FRTRR W W G T Uk Wit 90 A § A A 18 e o we e 3 | | o g
U @ T A U @ AR WSO SRR SR ¢ e U & R ® wed €, @ e v ang S
T WRER T W e -

(1) 48fme (2) 24fwe (3) 72%me (4) 36fme
Vaibhav takes 24 minutes to complete one round of a circular path of a sports field.
While Rohan takes 18 minutes for the same. Suppose both of them start from the
same point and at the same time and go in the same direction. After how much time
will they meet again at the starting point?

(1) 48minutes  (2) 24minutes  (3) 72minutes  (4) 36minutes

et Tfierton 343 x2 4+ 7x +/3 = 0 o farfarfar ot gvmn -

(1) 49 (2) 13 (3) 36 4) o2
Discriminant of the quadratic equation 343 x* +7x++/3 =0 will be -
(1) 49 @) 13 (3) 36 4) o2

NTSE(D/20-21-SAT-702-B



53.

54.

55.

56.

7.

(17) SAT-2
Tfe TR & N Taat ug 20 2 ofR 22 5f ge 50 2 & gawt 30 | ug q -
(1) 66 (2) 68 (3) 64 (4) 62

If seventh term of an arithmetic progression is 20 and 22" term 1s 50, then 30" term
will be -

(1) 66 2) 68 (3) 64 @) 62

Tt tan3P = sin 45°cos 45° + sin 30° @ & P & @@ g - (P < 90°)

(1) 15°7em45° (2) 15° @ 60° (3) 15°qen 75° (4) 45° 7= 60°
If tan3P = sin 45°cos 45° + sin 30°, then the value of P will be. (P < 90°)

(1) 15°and45° (2) 15°and 60° (3) 15°and 75° (4) 45°and 60°

af U IR BT B S wo S o R o e 311§ A g e
B —

(1) 30° (2) 45° (3) 60° (4) 90°

If ratio of length of a vertical rod and length of its shadow is J3:1, then the angle of
elevation of sun will be -

(1) 30° @ 45° @3y 60° 4) 90°
farmgat (2, ~2), (-2, 1) 3 (5, 2) g P Frage @ -

(1) e Ba= (2) wwarg Py

(3) g B (4) wwRm frge

Triangle formed by the vertices (2, —2), (-2, 1) and (5, 2) will be -

(1) Scalene triangle (2) Equilateral triangle
B) Isoscelestriangle (4) Right-angletriangle

T i T T e 3 S fareg T g -

(1) == (2) WA h THRR T
() == (4) THAA W TS T
Locus of the centre of rolling circle in a plane will be -

(1) circle

_2) line parallel to the plane

(3) curve (4) line perpendicular to the plane

NTSE(1)/20-21-SAT-702-B
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(18)

T2
AD 3, o . _
5%, fan ma fam i DE || BC A= 0= dafz AC = 16 33T & @1 AE @1 9/ gr
A
b) I -
i
i C
(1) 4 yord (2) 5w (3) 6% (4) 83w
) 3 .. . S
In the given figure DE || BC and IA)—% 3 if AC = 16 units then the value of AE will be -
A "r‘“
b) F ,
16 units
i3 C
(1) 4units (2) 5 units (3) 6 units (4) 8units

59, v udl & foee d gg 6 A, el B) 45 fome 1 g8 gr e T e w6 emee (Te)

a1 g -
(1) 85.84 =i ad (2) 14.12 =t wdt
(3) 84.85 =i adft (4) 12.14 =t ot

The length of a minute hand of a clock is 6 cm. What will be the area (approximate)
ol the sector swept by this minute hand with in 45 minutes.
(1) 8584 cm’ (2) 14.12 cm? (3) 84.85 cm? (4) 12.14 cm?

60, % urdl & % AR R qu S @ am 8 3 R it @ el

ay ! 0 2 | S

) 306 (2) §) 3) 6 (4) 36

Inasingle throw of two dice, what will be the probability of getting a total of 8.
I 5 I 5

| 0 - . . L

g ) @ S

FESEH/ 021 SAT- 70013
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(19) SAT-2

(¥fre)
(History)
fore T W IR TEA W A W ST SO @
(N 2010-2013 (2) 2007-2010 (R)) 2006-2010
Which period is known as 'Arab spring'?
(1) 20102013 (2) 20072010 (3) 2006-2016 (D

(vl .
() 2012-2015

2012-2018

42, ffeRaa wenoll @) wrengen N sratert o ol AR QU e @ aE I H T W
(1) @ g
(2) AN "
(3) I wEE
(4)  wmfera wewe
L AN
(1,324 () 1,2,3.4 (3) 3,24, 1 @ 2.1L,43

Arrange the following events in chronological order and select the correct answer

from the codes given below :
(1) Korea War

(2)  Swej Crisis

(3) Congo Crisis

(4)  Somalia Crisis

Codes :

(H 1,3,2.4 @ 1,2,3,4 3 3241 @ 2,143

63, Frefafas § | @ v |8 grfer Tl ¥

s aa S ERAH
(1) st - iR
(2) rEATeET - R
(3) TW=RUTH - A
(4) <@ - HEATEG
Which one of the following is not correctly matched?
Folk God Birth Place
(1) Jambhoji - Nagaur
(2) Jasnathji - Bikaner
(3) Ramcharanji - Alwar
(4)  Dadu Dayal - Ahmedabad

NTSE(1)/20-21-SAT-702-B | 1O,



SAT-2 (20)
64. iR 3 | S U Yo fva gg % awa g gl ® e T e

65.

66.

67.

(1) seet (2) ww (3) ¥ 4 TR

Which one of the following was not included among the Axis nations during the
First World War?

(1) Ttaly (2)‘ Germany (3) Hungary (4) Turkey

‘N WS’ T OFEh hi &A1?

(1) = wmeR foes (2) g =resl

(3) =AW= wwEad (4) T AR T

Who was the writer of 'Ananda Math'?

(1) Bal Gangadhar Tilak (2) Bankim Chandra Chatterjee
(3) Dayanand Saraswati (4) Raja Rammohan Roy

1857 &t it 3 ded § T | W1 U el gafer TE 82
(1) sira - FAfew (2) Yeam aGw — HETE
(3) YwTER T — G (4) Fra gerE - =

Which one of the following is not correctly matched with reference to the revolution
of 18577

(1) Bhimrao - Karnataka "(2) Sultan Baksh - Madras
(3) Mulgabal Swami - Poona (4) Vijay Kudarat - Kerala

aTdt ) Ty Hie fREH st & fre ma A 27
(1) == (2) uwum (3) weuuw (4) v
Dhapi Dadi is related to which village of Sikar peasant movement?

(1) Kudan (2) Palthana (3) Katrathal (4) Ghassu

NTSE(I)/20-21-SAT-702-B



(21) SAT-2
g, T TTam fwﬁfﬁmmmz&ymmmm%mu@,?
(1) T (2) fearaa (3) TwAR (4) fera

Which newspaper compared the Neemuchana massacre to the Jallianwala Bagh
massacre?

(1) Rajputana (2) Riyasat (3) Rajasthan (4) Kisan

¢0. Famferfrm © & wed vget snferemn fraen favn T 7

(1) v yied om (2) @

(3) v (4) e
Which of'the following was first invented?

(1) Flying Shuttle Loom (2) Water Frame
(3}) Spinning Jenny (4) Powerloom

70. Freaferftaa # A Rea v wum o ward srafig 3 duyen @ Rufo T weEmar?
(1) smm (2) @A (3) wyu 4) ==
Which one of the following places did not Swai Jaisingh build the observatory?

(1) Agra (2) Banaras (3) Mathura (4) Ujjain

". FreferRaa § @ fra vTEe W HeReRT T 6 We H A gan 7
(1) =mr (2) IR VE (3) e (4) iR
Which of the following rulers tomb is situated in the middle of the lake?

(1) Babar (2) Sher Shah (3) Akbar (4) Jahangir
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72.

74.

(M)
(Geography)
Wﬁéﬁﬁq@'{:ﬁﬁﬁ?’m@
(1) e BTR (2) =R (3) ZREMmR (4) TEeTEn

Which lake is located in Rajsamand district?
(1) Talchhapar (2) Nauchouki ~ (3) Tordisagar  (4) Navlekha

| PrfRaa # § S GEE EEA 27
(1) = (2) TR (3) = (4) =@
Which one of the following is a food crop?
(1) Sugarcane (2) Tobacco (3) Barley (4) Tea
ot - [ g - Hﬁg&%ﬁﬁﬁqqﬁ:ﬁ%ﬁﬁnﬁ@ﬁwmmgvﬁmmw
Hifsu :
et - | gt - 11
(&) (e &)
(A) = (i) <=
(B) - (i) e
(C) TweA (i) derg
(D) e | (iv) @refa
A B C D

(1) @) @ G) O

(2) () (@) (G @Gv)

3) () Gv) @) @

4) (v) () (@) (i)

Match List - I with List - IT and select the correct answer using the codes given
below :

List-I(Mineral) List - IT (Producing Regions)
(A) Copper (i) Zawar
(B) Lead-Zinc (i) Degana
(C) Tungsten (i) Ghotaru
(D) Natural Gas (iv) Kho-Dariba
A B C D

(1) (i) () (v) (i)
(2) Gy () (i) (iv)
(3) (i) (iv) (iii) (i)
(4) (v) (i) (i) (i)

NTSE(1)/20-21-SAT-702-B
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75. woeaA 4 foa e = itz v = w20
(1) fadieTg (2) =& (3) =& (4) FAFER
Which district in Rajasthan is called as cement city?

(1) Chittorgarh  (2) Kota (3) Bundi (4) Pratapgarh

76. Fefeitaa # | Toeam w1 gatfis gerar @ aren fen s 27
(1) s (2) TR (3) == (4) w==F
Which of the following is the highest Literacy-rate district of Rajasthan?

(1) Ajmer (2) Jaipur (3) Kota (4) Udaipur

77. Frafafea 4 @ sF-w e ag @i= 27
(1) f&= (2) wEREE (3) =M C(4) ==EEE
Which of the following is ferrous metallic mineral?

(1) Tin (2) Cobalt (3) Gold (4) Bauxite

78, Jrael i A ST S W F 2
Which is the major source of rainwater storage in the Shekhawati region?

(1) Khadin (2) Tanka (3) Nadi (4) Johad

NTSE(1)/20-21-SAT-702-B [PT.O.
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79, w0 i R R
(1) 8°4' 3ad e | 37°4" 30 S
(2) 804" 3l HEm | 37°6' I A
(3) 802w g @ 3778 Tk A
(4) 805’ Tah awgw & 37°5 T AT
Latitudinal extension of India is
(1) 8°4'Northern Jatitude to 37°4' Northern latitude
(2) 8°4' Northern latitude to 37°6' Northern latitude
(3) 8°2' Northern latitude to 37°8' Northern latitude
(4) 8°5'Northern latitude to 37°5' Northern latitude

80. ﬁm%ﬁgaﬁ@ﬂﬁqﬁéﬂmaﬁ@r@ﬁqﬁﬁﬂﬁ%?

(1) =ad (2) wE (3) e (4) TeEd
Which of the following rivers does not fall in the Bay of Bengal?
(1) Kaveri (2) Mahanadi (3) Narmada (4) Godawari .

81. oI HAymE” FE?
(1) 3% |ER & T
(2) viawgH eI ] & g e A
(3) ﬁmaﬁgﬁmazmaﬁmr-ﬁaﬁ
(4) o g o e e -
What is "Kall Vaishaki"?
(1) Cyclones in the Arabian sea
(2) Rainfall dueto mediterranean cyclone in winter season
(3) Rainfall onthe Malabar coast in summer s€ason
(4) Dust storm in west Bengal region during summer season

82. “aﬁﬁwﬁwémﬂmml”wmmﬁ?

(1) sht w2 (2) et < TS

(3) vt geften gt (4) sl g e

Who coined the slogan "Jo sir sante Roonkh rahe to bhi sasto Jaan?"
(1) Smt. Amrita Devi (2) Smt.JaanaBai

(3) Smt. Sushila Devi (4) Smt. Harsha Devi

NTSE(D)/20-21-SAT-702-B
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84.

85.

86.

NTSE(1)/20-21-SAT-702-B

(25) SAT-2
(Tfife )

(Political Science)

T i TRTEERT %2 i gan 7
(1) 307, 1949 (2) 157, 1948

(3) 26%Fad, 1950 (4) 17awR, 1956
When was the unification of Rajasthan completed?

(1) 30" March, 1949 £2) 15" May, 1948

(3) 26" January, 1950 (4) 1% November, 1956

2 FRER, 1959 =t et % fem Ry mﬁ_m@mﬁmﬂmWWEW?
(1) e (2) R

(3) AR (4) R

From which district of Rajasthan, the modern three-tier of Panchayati Raj system
was launched on October 21 19597
(1) Ajmer

(2) Nagour
(3) Jaipur

(4) Bikaner

R % A R oifie, st aft st fea

(1) 267awR, 1949 (2) 26 IR, 1948

(3) 26<mad, 1950 (4) 26<wadf, 1949
When was the constitution of India adopted, enacted and spirited?
(1) 26" November, 1949 (2) 26™ October, 1948
(3) 26" January, 1950 @ 26" January, 1949

74 3 WereT Ty gR1 TR e o i W o Hiae <R o st # geiag fen
2?
(1) 8K st (2) 127 e A

(3) 10+ srggshd (4) 9 gge

In which schedule of Indian constitution the functions of municipal councils were
listed by the 74" constitutional amendment?

(1) In 8" Schedule ' (2) In 12% Schedule
(3) In 10" Schedule (4) In 9" Schedule

[P.T.O.
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87. wawm, 2014 # TE@ 18 ai fPrer T gl a3 ?

88.

89.

(1) S (2) 8 feeet 3) ™ (4) wEa
Where did the 18" summit of 'SAARC' take place in November, 20147
(1) Nepal (2) NewDelhi ~ (3) Bhutan (4) Maldiv
o st @ weate et - [ o g - Ilﬁgﬁ%amgnv@%zwwzﬁﬁq
T -1 -1
(A) |uwT h ARHR (i) oFedg 19922
B) i ¥ freg AR (il) oeda 29@ 30
(C) weph ai fen v st (iii) ewedq 14918
(D) T 1 RN (iv) 3=8]23®24
Fe
A B C D

(1) @) @i @) O

2) (i) Gv) @ O

@) @ @) (i) )

@ @v) @) @ (G

Match List - I with List - Il Related to Fundamental Rights and choose the correct
from given codes

List-1 List - I
(A) Rightto Equality (i) Article 19to22
(B) Rightagainst Exploitation (i) Article 29 to 30
(C) Right to Education and culture (iii) Article 14to 18
(D) Right to Freedom or Liberty (iv) Article 23 to 24
Codes :-

A B C D

1y G i) @) 0
@) Gi) (v) @ 0
@) () @) (i) ()
@ (v) G Gi) (i)

aawﬁmmmgwmmzﬁmfbmmwmﬁsﬁam??

(1) 245 (2) 233 (3) 250 (4) 230

What can be maximum number of members of Rajya Sabha as per constitutiona!
provision?

(1) 245 (2) 233 (3) 250 4) 230

NTSE(1)/20-21-SAT-702-13



90-

9.

D @ 107 (3) 105 (4) 103
ding to whij : _ .

ij;iosfa ll)r;li ;n\gl?lch article of Indiap constitution 'Money Bills' can be proposed in
o i (3) 105 (4) 103

' m@ ﬁmmmq&‘ﬁﬁﬂaﬁmmmmﬁmqﬁﬁmmw}
TH 27
o (2) FemR
(3) ™™ T ey

(4) va faamEm IUTEAd
Who has the right to casting vote if there are equal votes in favour and in against on
a question in the state Legislative Assembly?
(1) The Governor

(2) The ChiefMinister

(3) The Speaker of State Legislative Assembly
(4) The Deputy Speaker of State Legislative Assembly

91 éﬁﬁmmaﬁﬁmmmmﬁmm freraw foraet 2 weRet €2
(1) T 6 g wew wen = 10%

(2) Fourmm R g vew vem = 25%

(3) Toeraw & Fe wew w@m w1 20%

(4) Toumaw R ot vew w=m w= 15%

How many members can be maximum in the state cabinet according to 91
constitutional amendment?

(1) 10% of total number of members of legislative assembly

(2) 25% of total number of members of legislative assembly

(3) 20% of total number of members of legislative assembly

(4) 15% of total number of members of legislative assembly

I e % =i R 3g aeh U8 YRV R HeRd § 7

(1) 627 (2) 60w (3) 654 (4) 68
Till what age can the Judges of high court hold his post?

(1) 62 years (2) 60 years (3) 65 years 4) 68 years

NISE(1)20-21-S AT-702-B [PTO.
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- (e
(Economics)
94, fafim svefaren AT 471 8
(1) =w (2) wwra
(3) <R (4) =
The nation having a mixed economy is
(1) China (2) India
(3) Japan (4) France
95. R shife o S A
(1) 1966-67 (2) 1970-71
(3) 1988-89 (4) 2001-02
The Green revolution started in
(1) 1966-67 (2) 1970-71
(3) 1988-89 (4) 2001-02
96. WA = FEa I ¢
(1) Red® (2) WRd= airenfirs fererma
(3) firaia - @ S 4) fiord S it gfoea
The Central bank of India is
(1) State Bank (2) Indian Industrial Development Banl
(3) Export - Import Bank (4) Reserve Bank of India

97. Wuﬁﬁ@ﬁf?ﬂam%mmmmm%

(1) wmaf s e (2) oA SE T

(3) T (4) I

The money is deposited for a fixed period of time in this account

(1) Fixed deposit account (2) Saving bank account

(3) Current account (4) Recurring deposit account

NTSE(1)/20-21-SAT-702-B
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(29)
gs. % TR 5 T T 35 5t it s g o e e 2
(1) 30t foemm 2) ww R
(3) FRR e (4) i R
When the benefits of development reach the people of all the sections of the society,
itis called
(1) Economic Development (2) Continuous Development
(3) Assimilated Development (4) Human Development

99. =R i RSl 8= W yfirw ¥ iy = e waerd 2

(1) SerieRto 2) Fsfraon

(3) S @ weh

The process which increases the role of private sector in economy, is called
(1) Liberalization (2) Privatization

(3) Globalization (4) Swadeshi

100. Mgt R w1 frem 37 Ugl A erdenhd s Saantt @

(1) stirfm g (2) orafereni g

(3) ferrmfiet g (4) Fornfee oy

The concept of Relative poverty is comparatively more relevant in these countries -
(1) Undeveloped countries (2) Under developed countries

(3) Developing countries (4) Developed countries

PP
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